Homework # 13                                                                                                    SCI 1300 


Name:_____________________________                                     

1. The deer population in Pleasant County has decreased from 6,000 in 1982 to 3,000 in 2002. If the current trend continues, in what year will the deer population fall below 1,000 deer? 

2. In the last 50 years, the El Paso population has grown from 130,485 in 1950 to 563,662 in 2000. If the growth of the population continues in the future, what will El Paso’s population be in the year 2050?  
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